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QUESTION 1

Your company needs a service that eliminates a single point of failure on any provisioned service. 

Which feature can Microsoft Azure offer to lower the probability of a failure that disrupts business operations? 

A. HDInsight 

B. scalability 

C. high availability 

D. backup 

Correct Answer: C 

A highly available cloud application implements strategies to absorb the outage of the dependencies like the managed
services offered by the cloud platform. Despite possible failures of the cloud platform\\'s capabilities, this approach
permits 

the application to continue to exhibit the expected functional and non-functional systemic characteristics. 

Incorrect answers: 

Not A: Azure HDInsight deploys and provisions Apache Hadoop clusters in the cloud, providing a software framework
designed to manage, analyze, and report on big data with high reliability and availability. 

Reference: Disaster Recovery and High Availability for Azure Applications 

https://msdn.microsoft.com/en-us/library/azure/dn251004.aspx 

 

QUESTION 2

Which Microsoft Intune Company Portal App platform requires IT deployment? 

A. Android 

B. Windows Phone 8.1 

C. iOS 

D. Windows RT 

Correct Answer: B 

Windows Intune Company Portal for Windows Phone 8/8.1 requires IT deployment 

Incorrect answers: 

Not A: Android requires Direct User Installation. 

Not C: iOS requires Direct User Installation. 
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Not D: Windows 8.x (x86/x64 and RT) supports both IT deployment and Direct User Installation. 

Reference: Windows Intune Company Portals for iOS and Android Now Available 

http://blogs.technet.com/b/windowsintune/archive/2013/11/25/windows-intune-company-portals-for-ios-and-android-now-
available.aspx 

 

QUESTION 3

You are using dual monitors on a Windows 8.1 computer. You want to move system tray to the secondary monitor.
Which Display option in Control Panel should you select? 

A. Make this my main display 

B. Landscape orientation 

C. PC Screen only 

D. Extend desktop to this display 

Correct Answer: A 

 

 

QUESTION 4

You want to use a Microsoft Account to log into devices on your home network. 

For each of the following statements, select Yes if the statement is true. Otherwise, select No. 

Hot Area: 

Correct Answer: 
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https://account.microsoft.com/account https://support.microsoft.com/en-us/help/12408/microsoft-account-how-to-use-
two-step-verification 

 

QUESTION 5

Your company is deploying a new application on employee\\'s personal Windows RT devices. The devices are
registered with Microsoft Intune. You need to publish the new application to Microsoft Intune cloud storage so that the
employees 

can install the published application. 

What are requirements of the published installation files? 

A. In order to publish the files, Internet speed must be at least 50 kbps 

B. The cumulative total file size for the published applications must be smaller than 2 GB 

C. In order to upload the software, the files must be a .zip format 

D. As many files as necessary may be uploaded, but no single file may be larger than 2 GB 

Correct Answer: D 

Before you publish computer apps to Microsoft Intune cloud storage make sure no single file size is larger than 2 GB. 

Reference: Deploy apps to computers in Microsoft Intune https://technet.microsoft.com/en-us/library/dn646961.aspx 

 

QUESTION 6

You are trying to access a file in a folder that is located on a Windows 10 computer. You are accessing the file over the
network from a second computer. You have the following permissions: 

NTFS: Full Control 

Share: Read Only 

For each of the following statements, select Yes if the statement is true. Otherwise, select No. 
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NOTE: Each correct selection is worth one point. 

Hot Area: 

Correct Answer: 

https://www.howtogeek.com/72718/how-to-understand-those-confusing-windows-7-fileshare-permissions/ 

 

QUESTION 7

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point. 

Hot Area: 
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Correct Answer: 

*

 Secure Sockets Layer (SSL) is a cryptographic protocol designed to provide communications security over a computer
network, such as secure connections to websites. 

*

 SSL is used for encryption but not for authentication. 

*

 There is SSL for the web server, but the client does not have a SSL certificate. 

SSL Certificates are small data files that digitally bind a cryptographic key to an organization\\'s details. 

When installed on a web server, it activates the padlock and the https protocol (over port 443) and allows secure
connections from a web server to a browser. 

Reference: https://www.globalsign.com/en/ssl-information-center/what-is-an-ssl-certificate/ 

 

QUESTION 8

Your new Windows 8.1 computer is connected to your home wireless network. 

You want to share music and photos on your new computer with other members of your family. You want to avoid
setting up separate user accounts for each member of your family. A single password for all the shared files will suffice. 

Which Windows 8.1 networking feature satisfies these requirements? 

A. Network Discovery 

B. HomeGroup 

C. Virtual Private Network 
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D. Broadband (PPPoE) 

Correct Answer: B 

A homegroup makes it easier to share files and printers on a home network. You can share pictures, music, videos,
documents, and printers with other people in your homegroup. Other people can\\'t change the files that you share,
unless you give them permission to do so. 

Reference: http://windows.microsoft.com/en-us/windows7/what-is-a-homegroup 

 

QUESTION 9

This question requires that you evaluate the underlined text to determine if it is correct. 

Microsoft Azure storage solutions replicates "four" copies of your data within a single region. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed". If the
statement is incorrect, select the answer choice than makes the statement correct. 

A. No change is needed 

B. two 

C. three 

D. six 

Correct Answer: C 

Geo-redundant storage (GRS). Geo-redundant storage is enabled for your storage account by default when you create
it. GRS maintains six copies of your data. With GRS, your data is replicated three times within the primary region, and is
also replicated three times in a secondary region hundreds of miles away from the primary region, providing the highest
level of durability. 

Reference: Introduction to Microsoft Azure Storage https://azure.microsoft.com/en-gb/documentation/articles/storage-
introduction/ 

 

QUESTION 10

This question requires that you evaluate the underlined text to determine if it is correct. 

You have a Windows 8.1 computer in a WorkGroup. To share the C:\Work folder and make it available to offline users,
you need to use the "public" share option. Instructions: Review the underlined text. If it makes the statement correct, 

select "No change is needed". If the statement is incorrect, select the answer choice than makes the statement correct. 

A. No change is needed 

B. advanced 

C. HomeGroup 

D. basic 

98-368 VCE Dumps | 98-368 Study Guide | 98-368 Braindumps                              7 / 12

https://www.leads4pass.com/98-368.html
https://www.leads4pass.com/98-368.html
https://www.leads4pass.com/98-368.html


https://www.leads4pass.com/98-368.html
2024 Latest leads4pass 98-368 PDF and VCE dumps Download

Correct Answer: B 

In the advanced sharing dialog box Click on "Caching" button. In "Offline settings" dialog box, you can set up caching for
files and programs which are offline. 

You have the following options: 

i) Only the files and programs that users specify are available offline: If you select this option then, users specify the files
and programs which can be accessed offline. It is the default option. ii) No files or programs from the share are
available 

offline: If you select this option then, caching will be turned off. iii) All files and programs that users open from the share
are automatically available offline: If you select this option then, caching is turned on for all files and programs and they 

can be accessed offline. Check option "Optimize for performance". 
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Reference: How to set advanced sharing options, custom permissions, caching for folder in Windows 7? http://www.mor
eprocess.com/operating-systems/windows-7/how-to-set-advanced-sharing-options-custom-permissions-caching-for-
folder-in-windows-7 

 

QUESTION 11

This question requires that you evaluate the underlined text to determine if it is correct. 

When you access a file located on a shared resource, the "most restrictive" permissions take precedence. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed". If the
statement is incorrect, select the answer choice than makes the statement correct. 

A. No change is needed. 

B. ACL 

C. NTFS 

D. share 

Correct Answer: A 

When using share permissions and NTFS permissions together, if there is a conflict in the configuration, the most
restrictive permission prevails. 

Reference: http://www.ntfs.com/ntfs-permissions-combined.htm 
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QUESTION 12

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct
selection is worth one point. 

Hot Area: 

Correct Answer: 

https://support.microsoft.com/en-us/help/12438/windows-10-storage-spaces 

 

QUESTION 13

This question requires that you evaluate the underlined text to determine if it is correct. 

The OneDrive service is used to create a private, enterprise-based social network. 

Review the underlined text. If it makes the statement correct, select "No change is needed". If the statement is incorrect,
select the answer choice than makes the statement correct. 

A. No change is needed 

B. Skype for Business 

C. Yammer 

98-368 VCE Dumps | 98-368 Study Guide | 98-368 Braindumps                             10 / 12

https://www.leads4pass.com/98-368.html
https://www.leads4pass.com/98-368.html
https://www.leads4pass.com/98-368.html


https://www.leads4pass.com/98-368.html
2024 Latest leads4pass 98-368 PDF and VCE dumps Download

D. Azure 

Correct Answer: C 

References: https://products.office.com/en-za/yammer/yammer-overview 

 

QUESTION 14

This question requires that you evaluate the underlined text to determine if it is correct. 

You are setting up your home network. All devices on your home network connect through a wireless access point. 

To share media files between your computer running Windows 10 and your video game system, you should create a
public network. 

Review the underlined text. If it makes the statement correct, select "No change is needed". If the statement is incorrect,
select the answer choice than makes the statement correct. 

A. No change is needed 

B. an extranet 

C. a VPN connection 

D. a private network 

Correct Answer: D 

References: https://www.howtogeek.com/245982/WHATS-THE-DIFFERENCE-BETWEEN-PRIVATE-AND-PUBLIC-
NETWORKS-IN-WINDOWS/ 

 

QUESTION 15

This question requires that you evaluate the underlined text to determine if it is correct. 

You are personalizing the Start screen on a Windows 10 computer. 

To create a new group of tiles on the Start Screen, select a tile and press F12. 

Review the underlined text. If it makes the statement correct, select "No change is needed". If the statement is incorrect,
select the answer choice than makes the statement correct. 

A. No change is needed 

B. access Settings > Personalize > Start 

C. right-click a tile and close Add to new group 

D. drag a tile to the far-right side of the Start screen and drop it 

Correct Answer: D 
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